MepecyeT aHeproHocuTena B gpyrme eanHULbI
3Heprun, B Bbl6pockbl CO2 u B nnowaab neca,
Heobxoaumoro ana nornoweHus CO2.

Bbl  korpa-HuMOyab  3agymbiBanucb,  kak  Bawe  notpebneHue
3HEpProHocuUTENEe BNMSIET Ha OKPYXalLlyl cpedy, Ha noTenneHve
KnumaTta, Ha UCYE3HOBEHME NEecoB, BOAOEMOB U pek? MHdopmauumio 06
3TOM MOXHO Hantu B UHTepHeTe. 3gecb cobpaHbl TONMbKO HEKOTOpbIe
undpbl. BoamoxHo, aTo nobyaut Bac OepexHee obpawarbca C
noTpebrneHMem  3HeproHocuTernen, BblkMYaTb  OCBELUEHWE U
TeneBn3op, ecnn Bbl MU He Monb3yeTecb, NpuobpeTaTb TEXHWKY C
HU3KUM  3HeprornoTpebneHeM, BbIKIOYaTb OTOMMEHUE  (CHWXaTb
TemnepaTtypy) yxoas u3 AOMY U Ha HOYb....

BoamoxHo Yy BacC nNoABUTCA XenaHue nocaauTb ,EleCﬂTOK-,ElpyFOIZ
AepeBbeB, Ha gave, BO3ie CBOero JomMa unun B napke sawlero paﬁOHa.

BoT a1 undpsl:

Bbi6pockl yrnekucnoro rasa CO2
1 M3 npupopgHoro rasa = 2,1 kr CO2!
1 kwh = 0,68 kr CO2!

1 Mkan = (B cpegHem) 0,5 kr CO2!

1 Tkan = 1163 kBt*wac unm 790 kr CO2!
anekTpuyectsom!

1 MNkan = 100 M3 npupoaHoro rasa unu 210 kr CO2! Ecnu nonb3oBaTtbcs
rasom!

1 lNkan = 500 kr CO2! B cpegHeM, ecrnv Monb3oBaTbCs LiEeHTpanbHbIM
oTonneHnem!

Ecnn nonb3oBaTtbes

OpHo Gonbloe AepeBo nornowaet okono 2,16 kr CO2 B mecsiy unm
72 rpamma B geHb unu 3 rpamma B vac!

Mnowanbs neca HeobxogMmasi Ha opgHo 6onblloe gepeBo 72 M2.
Onsa pacuyeta obuen nnowagM neca yMHOXbTE YMCIO AEepPeBbEB Ha
72m2.

Recalculation of the energy carrier in other
energy units, in CO2 emissions and in the area
of the forest necessary for CO2 absorption.

Have you ever wondered how your energy consumption affects the
environment, the warming of the climate, the disappearance of forests,
ponds and rivers? Information on this can be found on the Internet. Here
are collected only some numbers. Perhaps this will prompt you to treat
energy consumption more carefully, turn off the lights and TV, if you do
not use them, buy low-energy appliances, turn off the heating (reduce
the temperature) leaving home and for the night ...

Perhaps you will have a desire to plant a dozen or more trees, at the
country house, near your home or in the park of your district.

Here are the figures:

CO2 emissions of CO2

1 m3 of natural gas = 2.1 kg of CO2!

1 kWh = 0.68 kg of CO2!

1 Mcal = (on average) 0.5 kg of CO2!

1 Geal =1163 kW * h or 790 kg of CO2! If you use electricity!

1 Gceal =100 m3 of natural gas or 210 kg of CO2! If you use gas!
1 Gceal =500 kg of CO2! On average, if you use central heating!

One large tree absorbs about 2,16 kg of CO2 per month or 72 grams
per day or 3 grams per hour!

The area of the forest is necessary for one large tree of 72 m2. To
calculate the total forest area, multiply the number of trees by 72 m2.

(<> 1 1 11,63 0,01163 10 0,01 2,1 670 29 1
<> 1 0,08598 1 0,001 0,8598 0,00086 0,68 217 9 0,3
(<> 1 85,98 1000 1 8588 10,8598 680 217000 9000 300
<> 1 0,1 1,163 0,001163 1 0,001 0,5 160 6,65 0,222
(<> 1 100 1163 1,163 1000 1 500 160000 6650 222
(<> 1 0,476 1,47 0,00147 2 0,002 1 333 13,8 0,038

A 4TO MO UeHaMm, YeM AelueBrie OoTannuBaTb MOMELleHUe, rasom,
3NEKTPUYECTBOM MIM NOMb30BATLCS LieHTpasibHbIM OTOMNEHNEM?

A3 - 3a M3, go 30 m3 7,438 newn, cBbiwe 30 M3 7,749 nen
OJIEKTPUYECTBO - 3a kBT1*4ac 2,15 new

(nepecyeT): 1 M3 npupopgHoro rasa = 11,63 kBt*yac
LIEHTPAJIbHOE OTOIMNEHME (KuwwHes) 3a 1 'kan = 987 nen
(nepecyeT): 1M3 npupogHoro rasa = 10 Mkan

a3 1 M'kan = 100m3 * 7,749 nen = 775 nen
LleHTpanbHoe otonnexue 1 Mkan = 987 nen
OnekTpn4ecTBo 1 M'kan = 1163 kBT1*yac*2,15 nen = 2500 new

MHdopmaums no ueHam npuBegeHa Ha 27.11.2017

MoTpeGuTenu c yCTaHOBMEHHOW CUCTEMOW YyyeTa 3HeproHocutenewn
BAJIAHC wMoryT npocmartpuBatb CBOe MOTpebneHve B pasnnyHbIX
eavHULax 3Heprum, a Takke B KONMMYecTBe AepeBbeB, TpebyeMbix Ans
MOrnoLLeHnsl co3aaHHbIX UMK BbiopocoB CO2.

MopgpobHee Ha cavnTe www.djv-com.org

And what about prices, what is cheaper to heat a room, gas, electricity
or use central heating?

GAZ - per m3, up to 30 m3 7.438 lei, over 30 m3 7.749 lei
ELECTRICITY - per kWh 2,15 lei

(conversion): 1 m3 of natural gas = 11.63 kW * h
CENTRAL HEATING (Chisinau) for 1 Gcal = 987 lei
(conversion): 1m3 of natural gas = 10 Mcal

Gas 1 Gcal =100m3 * 7,749 lei = 775 lei
Central heating 1 Gcal = 987 lei
Electricity 1 Gcal = 1163 kW * h * 2.15 lei = 2500 lei

Information on prices is shown on 27.11.2017

Consumers with an installed energy accounting system BALANCE can
view their consumption in various energy units, as well as in the number
of trees required to absorb their CO2 emissions.

For more information visit www.djv-com.org.
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